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1st Semester Examination
ELECTRONICS (General)
Paper : DSC 1A-T
Network analysis and Analog Electronics

Full Marks : 40 Time : 2 Hours

The figures in the margin indicate full marks.
A Candidates are required to give their answers
in their own words as far as practicable.

Group-A
1. Answer any five questions : _ 5x2=10
(2) What are ‘a’ and B’ of a transistor ? 1+1

(b) Why is base biasing is a poor way to bias a

transistor in linear circuits ? 2
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State the Barkhausen criterion for sustained

oscillation. 2

Why is the intrinsic stand-off ratio of UJT less
than unity ? 2

State Maximum power transfer theorem. 2

What is the thermal runaway of a transistor ?
2

Define percentage voltage regulation factor of a
rectifier and mention its physical significance.
I+1

What is regenerative feedback ? Why it is so
called ? 1+i

Group-B

. Answer any four questions : 4x5

(a)

What is Q-point of a transistor ? Mention the
factors responsible for the stability of Q-point.
2+3

(b) Derive the relation between transconductance g

and drain current Iy of a JFET. 5
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(3)
Draw the circuit diagram of a full-wave rectifier

and explain the principle of operation. 243

Explain different current components in a p-n-p
transistor when the emitter junction is forward-
biased and the collector junction is reversed-
baised. 5

State and prove the Thevenin’s theorem. 2+3

Derive the barrier width in a p-n junction diode.
3

Group-C

3. Answer gny one question : 1x10

(a)

(b)
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Distinguish between Zener breakdown and
avalanche breakdown. Explain the working
principle of regulated power supply using Zener
diode. 4+6

What do you mean by rectification of a.c input
signal ? Discuss the operation of a full-wave

bridge rectifier circuit. What are line and load

regulations. 24+5+(1Ya+1%)
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